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qsfd

(NUMBER SYSTEM)

. g DI 4 B - 1d BIE, 5t 12, 18, 21 3R 30T

faursa 81

Find the smallest number which is divisible by 12, 18,
21 and 30.

1060 b) 1260
1620 d) 1020

. TP B A TP =& $ 21 | fAufora #37 & a9, 12

F faurfora farar o 3R IR 35 UTe gaim| I IR [
Fifeg|

A student, instead of dividing a number by 21, divided
it by 12 and got the answer 35. Find the correct
answer.

20 b) 15

26 d) 25

. 98 DI 9 B Y= 3d Fifee B 231228 # s

TR YT H@ 33 | guia: faurfora 8
Find the smallest number which when added to 231228
is completely divisible by 33.

3 b) 4

2 d) 1

ag 931 T I BT FId PG, Y 25, 35, 40 3N 30 BT
guta: faurfoma st

Find the largest number which will exactly divide 25,
35, 40 and 30.

35 b) 15
20 d) 5
. ZTH A P9 W H=IT 8 | YISy T8I 87
Which of these numbers is not divisible by 8?
12676 b) 11504
12832 d) 12360

276x1, 3 9 fAUTST §1 x & HHIfad A1 &1 9RT 1 22
276x1 is divisible by 3. What is the sum of possible
values of x?

18 b) 21
12 d) 15

TH TSI UIell # 14528 &1 T OB 9§ fauifera &1
gg’maﬁwss&ﬁvmsmﬁm%lmw

(¢

a)

o)

13.

a)

On dividing 14528 by a number in a number system,
Suresh gets the quotient 83 and the remainder 3. What
is the denominator?

165 b) 185
195 d) 175

I8 9aQ DI YW1 F1a9 Pifere Y 20000 # wiisa W
BT ANT 12, 15 3R 25 A fUST 3

Find the smallest number which when added to 20000
makes their sum divisible by 12, 15 and 25.

180 b) 150
200 d) 100

1000 ¥ S} 98 HaQ DI 9 BT S 2, 4 3R 6 GRT
fawrsa &

The smallest cube number greater than 1000 which is
divisible by 2, 4 and 6 is:

1296
1728

b) 5832
d) 4096

Tfe =T x4461, 11 A faHTS 8 1 x T AH |1 R?
If the number x4461 is divisible by 11 then what is the
value of x?

2 b) 4

3 d 5

5 & & 319 9t 9B 9 grT favrsa 72

Which of the following numbers is divisible by 9?
56112 b) 89445

49653 d) 58556

fFafafEa & @ #19-3 e 4 3 gofa: faufa 22
Which of the following numbers is exactly divisible by
4?
6542176
5632654

it wipa = @) 4, 5, 6 U1 7 | UG FA W
T AT § 1 Y I9dT ¢ | 98 J99 B! I= i At
14

When any natural number is divided by 4, 5, 6 or 7, a
remainder of 1 is left in each case. What is that
smallest number?

421 b) 61
841 d) 211

b) 7253566
d) 4187290
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Q)

15.

a)
Q)

16.

a)

17.

a)

18.

9]

19.

a)

9]

20.

a)

Q)

g a4 9 @f F9 F ged ) "= g, S 105 B
A w39 R Auwa 9 Tt g R 164 B e
Y W AYGA 20 31 22

Which of the following is the largest number which,
when divided by 105, leaves a remainder of 9 and
when divided by 164, leaves a remainder of 20?

36 b) 48
24 d) 96

g P9 A a9 71 1T § ©f 2 3R 3 AW @A 258
3R 323 Tt wH: fawfora wvdt 71

What is the largest number which divides 258 and 323
leaving remainders 2 and 3 respectively.

40 b) 24

64 d) 132

Frufafea # 9 o1 9 @81 6 § wisy 37

Which of the following numbers is divisible by 6?
12378 b) 12363

12370 d) 12388

987x54 =T & forg f3w ¢ fawent # Srqufya 3w 'x'
A | aife T= 6 A guf fyunfora gt

Select the missing digit ‘x’ from the given options for
the number 987x54. So that the number is exactly
divisible by 6.

2 b) 5

3 d) 1

1265 § ¥ FT e W f& ura e 29 | yofa:
fafora gt sme?

What should be subtracted from 1265 so that the
number obtained is completely divisible by 29?

15 b) 16
18 dy 17
frrafafad & @ #19 @ I=m 1184 # | werdt & amiey

T T e 21 9 It ave fautia gt a2

Which of the following numbers should be subtracted
from 1184 so that the resulting number is exactly
divisible by 21?

15 b) 12
8 d) 7

1739 ® ®H | &9 H1 wieT ¢ f& a8 11 | Pl
fawnfora g1 sme?

What is the minimum amount that must be added to
1739 so that it becomes exactly divisible by 11?

11 b) 2
1 d) 10

21.

a)
Q

22.

a)

26.

a)

Q

27.

a)

o)

28.

a)

98 BI1-U-BId] TBAT F1d Diford foradt 1456 F s
TR TE 6, 5 3N 4 A guia: v 8 st 3-
Find the smallest number which when added to 1456
makes it completely divisible by 6, 5 and 4 -

6 b) 61
44 d) 16

w9 3% o1 7 ¥ fyuriora forar sirar 8, &Y Qv 3rd Fifome |

Find the remainder when 3*° is divided by 7.
4 b) 3
5 d 6

o demsi § 9§ oi-3 @en 12 | fawrea 32
Which of the following numbers is divisible by 12?

93412 b) 63412
73412 d) 83412
o & 8 o1-9 den 9 @ fJursa 32
Which of the following numbers is divisible by 9?
56765 b) 47862
54321 d) 87654

Tfd 3x2 + ax + 4, x - 5 gRT Yuiaar fAuTsa gt at a HT AN
e &2

If 3x* + ax + 4 is completely divisible by x - 5 then
what is the value of a?

-12 b) -5

-15.8 d) -15.6

< AT fawd H@m3i BT 9N 38 | ueeh T §
20 3 21 379 A HaH TSI T=AT [ B}

The sum of three consecutive odd numbers is 20 more

than the first number. Find the largest number among
these.

13 b) 9
11 d) 7
Tfe 3/11

If 3/11

05 b) 1
2 d) 3

IR PUNT GEne &1 OHAGa Aufafead § 3 fea
&I | g v giar 82

The product of four consecutive numbers is always
divisible by which of the following numbers?

10 b) 22
24 d) 48
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29.

Q)

30.

33.

a)

9]

34.

a)

Q)

35.

gfe Teeht wEm iR gudt Ten, At wen F gaqr &
HHRT: 25% 3R 50% AT B, A Ugell 3R gt B &
a9 3uTd F1d BT

If the first number and second number are respectively
25% and 50% more than the third number, then find
the ratio between the first and second numbers.

5:6 b) 2:1
6:5 d) 1:2
o wara favw quife! § @ vgd &1 f9 T, SRR

ST A 3 AR 71 =T quife ma ST
Of three consecutive odd integers, three times the first
is 3 more than twice the third. Find the third integer.

15 b) 13
11 d) 9
guft 1 3 99 9% Ft AT A T8 & FA 3P fpaA &2

What is the total number of tens in the range 1 to 99?

98 b) 90
99 d) 100
YT 12, 19, 26, 33 ....... T 1 &Y "= Fa gl

Series 12, 19, 26, 33....... What will be the 1st number
in?

89 b) 75
82 d) 68

4752
n%uﬁﬁugi'{m'z-si’ls’-ﬁ’.’) IR wu & w@T

2 2 *
If the rational numbers -9 18 -6 3 are arranged
in ascending order, then which of the following
numbers will be placed first?

4/-9 b) -7/18
5/-6 d) -2/3
it 7, 14, 21, 28..... ¥ fba UG BT AT 952 &2

The sum of how many terms in the series 7, 14, 21,
28.....is 952?

16 b) 17
18 d) 19

3! PHIITT T=ATE J1d PHg o ugd 3iw &1 3 A1
TR 3f® & 2 T A 5 AU 7

Find two consecutive numbers in which 3 times the
first digit is 5 more than 2 times the second digit.

a) 536 b) 63R7
5and 6 6and 7
o 73R8 d) 93R 10

7 and 8 9and 10
36. 6+ 11+ 16+ 21 +.... + 71, BT W T DT
Find the value of 6 + 11 + 16 + 21 + .... + 71.
a) 539 b) 561
c) 661 d) 639
37. 4G 11,17, 23.ceeeen. e gaT=R Joft 7 g, af 1247 ug
F1d SIfe|
If 11, 17, 23............... are in an arithmetic progression,
then find the 12th term.
a) 77 b) 83
o 71 d) 89
38. fafafeaa # & o= @ W= srvred 82
Which of the following numbers is prime?
a) 263 b) 243
¢ 253 d) 273
39. <l 3] B A 931 U JWT JId o]
Find the largest two digit prime number.
a) 93 b) 89
c) 91 d) 97
40. TR DI AU HBAT 3R (0 P! BreHR) fHaft off yoi
T—T FT UFEE T g2
What will be the product of smallest prime number
and any whole number (except 0)?
a) EHRNIA b) THRMTH
always zero always one
o THI YA TS d) THT fawH Fs

always even number

41.

a)

o)

42.

a)

Q

43.

Q

always odd number

50 3R 80 & o @I IUH JWN3f & TR BT TaT

oyl

Find the sum of prime numbers between 50 and 80.
392 b) 390

463 d) 396

o1 ar fawm srvTew Semelf F190T 34 72

The sum of which four odd prime numbers is 34?
1,357 b) 3,579

3,5 11,13 d) 3,7,11,13

19 100 9% @I A 3i® 2 o8 & WM W fHa-i
IR AT 82

How many times does the digit 2 appear in the tens
place in counting from 1 to 100?

20 b) 11
10 d) 19
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44, TH U TS ........
In a prime number........
a) AAWEYEHEdsl b)) FAAJE IR 1Y
There are more than two faafrd 2t 21
divisors. Is divisible only by itself and
by 1.
0 TUBIPIS UNIH TRl aldTl  d) YT guifes -Tel ]

It has no divisor.

45.

a)

49.

a)

9]

50.

a)

Q)

51.

a)

Q)

52.

is not a positive integer.

13 100 9P &1 =t # 3i 5 fora-il IR emaT @2

How many times does the number 5 occur in counting
from 1 to 100?

21 b) 22

20 d) 19

o d @ 34 4 S "g-H=T §

Which of the following pairs are co-prime
348, 296 b) 114,213
59,97 d) 3025,4920
7 & & i @t Sen WA 87

Which of the following numbers is divisible?
719 b) 709

729 d) 739

Tgd 100 WP T3l # frast SruTsa =t 82

How many prime numbers are there in the first 100
natural numbers?

25 b) 27

24 d) 26

?ﬁﬁf@ﬁﬂgﬁﬁﬁﬁﬁﬁ-ﬁm&rwmﬁm

Which of the following sets forms co-prime numbers?

(12, 7) b) (21, 42)
(3,9) d) (43, 129)

T A D9 U fAUH HIsT BT 82

Which of the following is an odd composite number?
13 b) 17

12 d) 15

ygal 8 faww sruTey F@mail &1 aRTed JId Fifere|

Find the sum of the first 8 odd prime numbers.
77 b) 98
75 d) 100

g?mqurﬁ‘fsoaﬁﬂoo%d’ramﬁammﬁ@ﬁ

a)

55.

a)

56.

o

57.

Q

58.

a)

o)

59.

a)

How many prime numbers are there between the
positive integers 60 and 100?

9 b) 6

7 d) 8

8 9 D9 U@ fIHT HEI 32

Which of the following is a prime number?
121 b) 141

181 d) 161

o A @ 9 @ L, 9 s v S T8 32
Which of the following pair is not a pair of twin
primes?

11,13 b) 71,73

131,133 d) 191,193

FE AR A 19 20 99 D A U 3iF YTaT 8?2

Which of the following is a prime number series from 1
to 20?

3,57,11,13,17,19 b) 2,579 11,13,17,19
2,3,57,11,13,17,19 d) 1,2,3,5711,13,17,19
e Temeit # | Wged e o1 I T8 82

Which of the following numbers is not a composite
number?

209 b) 203
161 d) 109
A x + y = 1, A (AP (+1).......F R ¥ (el x 3R

y U B ®)

If x +y =11, then (-1)x + (+1)v....... is equal to (where x
and y are whole numbers)

-1 b) 1

2 d 0

30 Hiex dd HUS W, TAS 225 YH AY I 12 TP
A . .

HIEHY 9 oA 0 A Yo Q18 BT Fbea1 U A Ferar

&2

From a 30 meter long cloth, 12 pieces each measuring

225 cm are cut and sold. What fraction of the original

length is left?

1/3 b) 1/9

1/10 d) 3/10

gfe forelt T @1 1/7, G=I @ e S §, o gk
TEAT A 30 HH T & | JBAT JId BT

If 1/7 of a number is subtracted from the number, the
result is 30 less than the number. Find the number.

105 b) 140
120 d) 210
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60.

a)
Q)

61.

a)
Q)

62.

a)
Q)

63.

a)
Q)

64.

a)

Q)

65.

a)

3l TSt BT YUFTEE 24 YT TP a7 BT TRTHE 52
8, O ISP TRTGA T BT

The product of two numbers is 24 and the sum of their
squares is 52, then find their sum.

5 b) 10
15 d) 20

Ife Te H@N & 5 A | A 10 9T W[, At 95 99 48
F 4 TA | 8 Fig+ W e arelt §=n & SR ghm, ot
g S R §?

If 10 is subtracted from 5 times a number, then it will
be equal to the number obtained by adding 8 to 4
times that number, then what is that number?

15 b) 18
22 d) 21

9 fpdt e & 8 A | 4 SireT WTdT 8, °f ured uiomy
3 3T B! WAH BIC WS 1T ¢ 1 I§ HSH T o2
When 4 is added to 8 times a number, the result
obtained is the smallest 3 digit number. What is that
number?

12 b) 10
15 d) 8

3 dEmelt BT AT 22 31 TS GBI BT UG AT gt
TV F 6 T & WIS 81 39 a1 A | 73 WS gad|
The sum of two numbers is 22. Five times one number
is equal to 6 times another number. Name the larger
number among these two.

12 b) 15
10 d) 16

gfe fHdt = &1 SRAT FXPb IUH 20 TS W gt
IR foreran @, i S = FY 8 | N S UEHd H
¥ 4 9o WX fireran 8, &) W 3| S|

If doubling a number and adding 20 to it gives the
same answer as multiplying the same number by 8 and
subtracting 4 from the product, then find the number.

3 b) 4
6 d 2

3 T3t BT YUFTEE 9375 B TF AN T3 BT B
e B HEn ¥ favifiera far s 8, a WRTee 15
TS BT & | 1 Seai &1 a1 §id S|

The product of two numbers is 9375. When the largest
number is divided by the smallest number, the
quotient is 15. Find the sum of these numbers.

400 b) 380
425 d) 395

66.

a)

67.

a)

68.

69.

¢

70.

a)

o)

71.

a)

o)

72.

gfe fHdt = & ue Hiurs &1 §)- fagrs 32 §, @t J=en
Td BT

If two-thirds of one fourth of a number is 32, then find
the number.

202 b) 198
196 d) 192

gfe g1 Wil &1 ANTEd 13 § 3R S9F I $T ARThd
97 8, A 3APT UHFGH JTd B

If the sum of two numbers is 13 and the sum of their
squares is 97, then find their product.

72 b) 36
110 d) 84

o & @ o= W fra w@ &t 1375 § sisH W) aikom 1
STl 82

Which of the following fractions when added to 13/5
gives the result 1?
-48/30

-28/10

by -7/5
d) -8/15

i, 1,1, 1,11

6 12 20 30 42 56 HIIWATR?
What is the answer to

1,1,1 1,11

6 12 20 30 42 56.

11/24 b) 3/8

7/16 d) 13/28

ferl, 999 3R ARG 7 T P B A=
Tferl & URT SHBT 1/6 YR YT, TR & U SHPT 1/4
YT AT 3R AW U G & IR AT ARG FT FF BT
32T T YT?

Shalini, Tanveer and Rashid shared a cake. Shalini had
1/6 of it, Tanveer had 1/4 of it and the remaining part
was with Rashid. What was Rashid’s share of the cake?

5/6 b) 3/5
13/15 d) 7/12
3 Y= &1 AT 9 B IAF HopH! BT ANT g1 3T

The sum of two numbers is 9. is the sum of their
reciprocals. One of these numbers is :

2 b) 4

5 d 6

T Wd § 200 B ? o o ds® 81 Woa | omEsi
B HSI J4 BRI

There are 200 students in a school in which the
students are boys. Find the number of girl students in
the school.
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a) 80 b) 60

o 40 d) 120

73. i S G@SHT BT TNT 26 TUT IAPT 3= 12 B, a1 IS9P
I} BT 3R JId BT

If the sum of two numbers is 26 and their difference is
12, then find the difference of their squares.
a) 296 b) 312

c) 324 d) 336

74. T} 2 B3 BT QUG 7% T BT 3 TAT § TUT TP
TEAT 12 § A gast A=A [ Be-
If the product of 2 numbers is 3 times their sum and
one number is 12, then find the other number -
a) 2 b) 3
c 4 d 5

75. Ifg & 3iPI BT TN 15 7 SR SR 3 3 O T 3P .........
Bin-
If the sum of two digits is 15 and the difference is 3
then those digits will be:

a) 837 b) 63R9
8and 7 6and 9
¢ 5310 ) 33R 12
5and 10 3and 12

76. o9 PHTTT H TB3MT BT GRTHA 42 g1 HH IS BI

T BIfoE|

The sum of three consecutive even numbers is 42. Find
the middle number.

a) 12 b) 18

o 16 d 14

77. S GgWIREI M 3R N 7 TP SR TS M T TR
8 R @1 AT & 3/7 &1 YA fEar M A N B
a1 A 31,540 3. FH fQUI R &) arTa farasit 82
Two participants M and N bought a car. M paid 3/7 of
the cost of the car as his share. M earned Rs. 31,540
more than N. Gave less. How much does the car cost?

a) 2,32,680% b) 2,03,175%
Rs 2,32,680 Rs 2,03,175
c) 220,780% d) 1,85780%
Rs 2,20,780 Rs 1,85,780

78. afe fosht s & 2/3 UM ST g 300 %. Gt U= &
3/5 T T Yoo T I ?
If the cost of 2/3rd portion of a pizza is Rs 300. If so,
what will be the price of 3/5th part of the pizza?

a) 180% b) 250%
Rs 180 Rs 250

c) 225% d) 270%
Rs 225 Rs 270

79. 99 WIsgs & 0.23 Aéiex Hiers aid 472 ¢Fhs, TH
TR P FW W 914 ¢, @ 39 TR 9 WY It W A
TS farast ghit?

When 472 pieces of plywood, each 0.23 cm thick, are
placed one above the other, what will be the height in
meters of the pillar so formed?

a) 10.856 b) 1.0856
) 108.56 d) 1.856
232m
80. daTg F 15 DI B B FSHT TP IS B!

mﬂéla@waﬁmﬁﬁ'—ﬁ#ﬁ?

One big stick was made by joining 15 small rods

2
23-m
of 7 lengths. What will be the length of the
bigger rod?
3 1
349 —m 349 —m
a) 7 b) 7
349 E m 349 > m
o 7 d) 7
81. TTH TSI YT T DI 3 3P P U T=3H &
3R B MUET BIfoTE?

Calculate the difference between the largest and
smallest two digit prime numbers?

a) 82 b) 83

0 84 d) 86

82. TR 3l aTcll 98 TaA ISI W AT § SN 49 | yola:
faursa 82

What is the largest four-digit number that is
completely divisible by 49?

a) 9998 b) 9994

c) 9992 d) 9996

83. 4 3P| I 98 IS A IS AT J1d PIY, S 15, 25, 40,
3R 75 | RAUTST 8

Find the largest 4 digit number which is divisible by 15,

25, 40, and 75.
a) 9200 b) 9600
c) 9400 d) 9000

84. 4 3P| P! TIH TI & FId BT &t 88 A Yuia:
favrsa gt
Find the largest 4 digit number which is completely
divisible by 88.
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Q)

85.

Q)

86.

a)
Q)

87.

a)

88.

a)

89.

9]

90.

a)

Q)

91.

a)

9944 b) 9844
9768 d) 8894

IR 3| P! a8 IS YWAT FId PG, Y 27, 18, 15 3R
12 § yofaar faursa 81

Find the largest four digit number which is completely
divisible by 27, 18, 15 and 12.

9730 b) 9710
9700 d) 9720

6 3] BT TSI TWT UTd HI1 & forT 135642 A 1 ST
ST AR e?

What should be added to 135642 to get a larger 6 digit
number?

864350
864357

IR 3] aTell Tad TSt Y= F1d PIFTT ST 49 | Yuia:
faursa 82

Find the largest four digit number which is exactly
divisible by 49?
9992

9998

b) 863357
d) 864347

b) 9994
d) 9996

%ﬁﬁmﬁaﬁﬁmﬁaﬂaﬁaﬁmmmm
|

Find the smallest four digit number divisible by 47.
1200 b) 1025
1034 d) 1360

3 3P P! HaA IS H=I B W g w10, 8 3R 12 F
T @ve v 8 st @2

What is the largest 3 digit number which is exactly
divisible by 10, 8 and 12?

940
980

b) 960
d) 999

4 3P| aTell TN BIE TWAT 1 B ot ¢b Qof a7t 71—
Find the smallest 4 digit number which is a perfect
square —

1000
1081

gﬁ@ﬁ'&ﬁ%ﬁ'&sﬂﬁaﬂﬁmmﬁa’nsmw
|

Find the smallest 6 digit number which is a multiple of
18.

100000 b) 999900
100008 d) 100006

b) 1024
d) 1064

92.

a)

95.

a)

96.

Q)

97.

(9

98.

a)
o)

929.

a)

Q

100.

0.125125125..... B TRUY GBI & &Y § oqad HIeg

Express 0.125125125.....as a rational number.

119/993 b) 113/990
125/999 d) 100/999
TaA B U B J1a B

Find the smallest fraction.

3/4 by 11/13

5/7 d) 9/11

fora & & fbg e &1 sl arfge g

Which of the following numbers will have an irrational
square root?

21025 b) 18025
13225 d) 15625
1/(2+ \3 ), & 83 BT URAY HIF FId PIT:
Find the rational value of the denominator of 1/(2+ V3
). :
2+ 13 b) 2-+3
1 d) 4+13
1/(5+2+3) & 8 BT URTY A T ST |
Find the rational value of the denominator of
1/(5+2+3).
(5-243) (5-2+3)

12 b) 13

243
B e

13 d) 13
4)32=1
1/4 b) 8
1/8 d) 4

fgu T faweul § & 2/4 iR 0.6 & T I arelt uRAT
e B 2

Which of the given options is a rational number falling
between 2/4 and 0.6?

11/25 b) 21/40
3/4 d) 11/4
g demsit # Q S 9-3 O sufag @2

Which of the following numbers is irrational?

Y64 n 64

/64 0o 64

Frafaf@d # @ $19-M vo aidg den g2
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Which of the following is a rational number?

] ]

a) ) 2 b) \ 8
o V4 5 12
101. R & 7€ FEmai & A w17 o ufiy g T8 @2
Which of the numbers given below is not a rational
number?
) 64 o V04
Q) V8 d) V/g
102. Wt srofvg wEmd -
All irrational numbers -
a) e b) HIEMF g
Integer Imaginary
o guf g=m d) aRafdd W §
whole numbers real number
103. FafifEa § o= & wen suiag &
Which of the following numbers is irrational?
, ~1000000  3/1000000
Q /1000000 o ~/1000000
104. Frafif@a § o= & wen suidy &
Which of the following numbers is irrational?
a) {/1 b) 3 8
6
., 16 .
105. FrofifEa & 3 oidg sen s @ &
Which of the following is a rational number?
, V22 y N8 -2
. 3444 5 2 +1
106. R & 7S HEma # A g &1 wiyge ug 2
Which of the numbers given below has a rational
square root?
a) 576 b) 512
c) 480 d) 544
107. fafafEa 9 @ e den o1 aviga uivda grm

a)

108.

Q

100.

a)
(9)

110.

a)

111.

a)

o)

114.

a)

Q

115.

The square root of which of the following numbers will
be rational?

46232 b) 46233
14448 d) 34225
o ¥ 9 fra e &1 avige safvig 37

The square root of which of the following numbers is
irrational?

5184 b) 4465
3025 d) 8836
9 A forgeT iy ve uiig e @2

The square root of which of the following is a rational
number?

336
320

b) 344
d) 324

fFrafafea & ¥ @1 W e &1 aiga safvag g
The square root of which of the following numbers will
be irrational?

6441
7921

b) 9604
d) 5776

%ﬂ;ﬁﬁﬂéﬁ@raﬁﬁﬁmm‘fqﬁwﬁum

The square root of which of the numbers given below
is a rational number?

144 b) 136
128 d) 120

1/(2+ V3) B AT §&I & =9 § ogad Bifere|

Express 1/(2+ V3) as a rational number.

5-23/12 b) (2-V3)/1

(5-23)/13 d) 5+2v3/13

98 DIt A DI F-T 71 oY, A 1780 A siig W®
wTo IRT gt o gt

Find the smallest number which when added to 1780
makes the sum a perfect square.

46 b) 49
69 d)y 72

e Biel Yuifer J1d Pifore RorasT 99 wad & sRer 81

Find the smallest integer whose cube is equal to itself.
-1 b) 2
1 d) 0

afe feft W& & = ®1 (153)2 & °ew offa 3, o §9
UPR T ST 1457 | EBAT T Ul a3 |
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a)

116.

Q)

118.

Q)

119.

Q)

120.

a)

9]

121.

a)

Q)

122.

a)

If the cube of a number is subtracted from (153)?, the
number thus obtained is 1457. Find the number.

18 b) 16

28 d) 24

TP YATHD YUl P Ui AT 39S a1l & g A 3 HH
21 guife g1a Fifem|

Five times a positive integer is 3 less than twice its
square. Find the integer.

3 b) 8
2 d) 5
T8 BId | B yof ot T=n w1 Fifvre, s 21, 36 3R

66 ¥ fauTsT 811

Find the smallest perfect square number which is
divisible by 21, 36 and 66.

214344
214434

T A P17 W af = B 3 TSy T=eHf & AT B
U § Faa -TE1 faan o Faar 82

Which of the following square numbers cannot be
expressed as the sum of two prime numbers?

81 b) 49
121 d) 144

el v & ot & &9 [ AT F 4 T B ger W
TG ST I T A 50 AP g1 T 1 Y |

By subtracting 4 times the number from 3 times the
square of a number, the number obtained is 50 more
than that number. Find the number.

b) 231444
d) 213444

5 b) 4

6 d) 10

7 & & o1 a1 gof v =151 32

Which of the following is not a perfect square?
2025 b) 16641

1250 d) 9801

T8 QA $ W T S it BT anT e @2
Which of these numbers is not the sum of two squares?
41 b) 13

23 d) 37

8 4 - guf & 32

Which of the following is a perfect square?
9801 b) 9887

9013 d) 9016

123. afe fonlt Ten & ot &1 sifow oiw 1 81 < 39S w9 &1
If the last digit of the square of a number is 1. Then
what will be the last digit of its cube?

a) $ad9 b) 1319
only 9 1t09
o Prs ot faww de d) Pad 1
any odd number only 1

124.

a)

125.

a)

126.

a)

Q

128.

a)

Q

129.

3l TS BT ATHE SR 3R HHTT: 25 3R 3 81 P
Cuika g ord ok ad

The sum and difference of two numbers are 25 and 3
respectively. Find the difference of their squares.

165 b) 75
154 d) 140
100 3fR 200 & ¥i9 fpa guf @t &2

How many perfect squares are there between 100 and
200?

7 b) 4

6 d) 5

4042 ¥ 19 W SIA-A S F= ) oY, Frd a8
quf @t 51 =gz

What is the smallest number that can be added to
4042 to make it a perfect square?

41 b) 54
64 d) 58

H@©I1137592 PI 39 A Bit F@& ¥ fauiiora sifow
f ®1E Av T T 3R YT TP Quf €9 81 URTHS BT
U@ JId B

Divide the number 137592 by the smallest number
such that there is no remainder and the quotient is a
perfect cube. Find the cube root of the quotient.

8 b) 2

4 d) 6

TS YIS =T 301 T A 30 € 3ifres 8, af wem
Td P

If a positive number is greater than its square root by
only 30, then find the number.

16 b) 36
25 d) 49

9% BIt A Bt "B freis ok 14 F o & anT A
SeT ST AT arfd uRumiasy Ui @ U qui
i g1 wb?

What is the smallest number that should be added to
the sum of squares of 15 and 14 so that the resulting
number is a perfect square?

MOB. :- 8171232133
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Q)

130.

Q)

131.

133.

Q)

134.

Q)

135.

a)

9]

136.

a)

Q)

137.

17 b) 20

11 d 9

19 9 d® $t d&3il & T & ITEa Bt Tl
EdiE 1

Calculate the sum of squares of numbers from 1 to 9.
284 b) 285

385 d) 380

1 9 10 9% @ J@nei & T & GRThd Pt TUMET
Bifere?

Calculate the sum of squares of numbers from 1 to 10?

384 b) 285

385 d) 380

256 & fpa= uEs ot o &2

How many factors of 256 are perfect squares?

5 b) 3

6 d 4

7864 B fFu TAGH WS PT TN Y % g8 gl a7f &=
Sg?

What minimum number should be added to 7864 so
that it becomes a perfect square?

61 b) 57
71 d) 79
TP YFTHS YUITD BT 4050 | UM H YR Ig =T YOI

it 591 STl 31 39 =T BT 9 g [id Pifvre]
Multiplying a positive integer by 4050 makes the
number a perfect square. Find the square root of this
number.

95 b) 80
90 d) 85
fFrafafa & @ o149 0 ven e i af @
Which of the following numbers is a perfect square?
0.09 b) 8.1
0.025 d) All
—
do the Evolution -
f  —

Jso + \/30 +4/30++/30+/..2
5 b) 30
6 d) 58
79 ¥ fra v & Jaffas yoe § 2

Which of these numbers has the highest divisor?

Q

138.

Q

139.

142.

a)

143.

a)

Q

144.

a)

Q

145.

156
172

b) 240
d) 200

fad A UFRES (3451)% x (531) W TPHIS BT 3iF FId
fofome |

Find the units place in the given factor (3451)% x
(531)*%.

6 b) 4
1 d 9
729 ¥ fraq uH-Ts ol ot 82
How many factors of 729 are perfect squares?
5 b) 4
3 d) 2

2° x 3% x 5% x 75 & fa- TUIP TH TWAE 87
How many multiples of 2 x 3% x 5% x 7° are even
numbers?

288 b) 168
576 d) 464

2° x 3% x5 x 7° % fpan U fawy e 87
How many multiples of 2° x 3° x5* x 7° are odd
numbers?

288 b) 144
210 d) 140

213¢ &7 ifay 3w 71 82

What is the last digit of 213°¢?

6 b) 3

7 d) 9

LERACIC "= 216 # fHad on fHar sEn

IR AP UHET S FRSI St T a9 g7

What is the smallest natural number 216 that should
be multiplied so that the product has an odd number
of factors?

4 b) 6
12 d) 8

[45231632 x 2224632 x 3225%32] W FHIS b WU ATl
3P TN

What will be the digit at the ones place in [4523¢32 x
2224632 x 3225%32]?

1 b) 0
4 d) 5

{(8)* x (9)7 x7°} & UMHH § Hd MUY UHES AT
BT |
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a)

146.

Q)

148.

a)

Q)

149.

a)

150.

a)
Q)

151.

a)

Find the total prime factors in the product of {(8)*° x
(9)" x7°%}.

45 b) 54

52 d) 65

{(16)” x (27)° x 59}35TIUHW$T§WT3[HTWT[UH1§3
T P |
Find the total prime factors of the product {(16)” x
(27)¢ x 5% }.

28 b) 43
55 d) 56

fau 7T UGN (4211)%2 x (361)52 ® SHIS BT 3P T
PIfTT |

Find the ones place in the given product (4211)° x
(361)%%

3 b) 1
4 d 7

fruferfRaa A g1E &1 3 FTd BY: (1234)202 + (1234) 3
Find the units digit in the following: (1234)°* +
(1234)°3

2 b) 4
0 d) 1

98 991 ¥ v "= 7d HITE, SR 115, 149 3R 183
B! fauTford $33 R Hu: 3, 5, 7 S

Find the largest number by which dividing 115, 149
and 183 will leave 3, 5, 7 respectively.

20 b) 16
18 d) 14

9% Bt A DIt JWI FI 9 difog, ¥ 5, 6, 7, 8, A
e #31 w 3 A F9ar 8, 3R eI 9 #t YU off
Bl

Find the smallest number which, when divided by 5, 6,
7, 8, leaves a remainder of 3, and is also a multiple of
9.

1683
1677

b) 843
d) 1983

Pt dem &t 10, 9 3R 8 | SrerT-3rem favTira HeA
W P 9, 8 3R 7 JUB a1 31 394 & HaY DI
@I {1 B

When a number is divided by 10, 9 and 8 separately,
the remainder is 9, 8 and 7 respectively. Find the
smallest number among them.

353 b) 719
1359 d) 359

152.

Q

153.

(9)

154.

Q

155.

Q

156.

a)

o)

157.

o9 foddt e o et wrere grT fawnfora far siran
2, 9 UG 24 gUAT 31 T I & & G B I
yIoTe gRT fawifera fan siman €, & Avwa 15 s9@r 71
TSP T B |

When a number is divided by a divisor, the remainder
is 24. When twice the same number is divided by the

same divisor, the remainder is 15. Find the
denominator.

9 b) 33

23 d) 35

9% Bl ¥ BId "en Jia sifvg, O 8, 12, 18 &
fawrfora w3 wR wn: 6, 10, 16 T F=T B)-

Find the smallest number which when divided by 8, 12,
18 leaves remainder 6, 10, 16 respectively -

74 b) 144

146 d) 70

9% Uad DIl GBI 91d sifog, oA 3 afg 6 o9 33

?qaﬁa‘ramz, 15, 20 YT 27 | Yofa: faurfoma gt ot
|

Find the smallest number from which, if 6 is

subtracted, it is completely divisible by 12, 15, 20 and

27.

542
546

b) 540
d) 500

9% 93 W TSI T 1 HIOE FS9A 3050 TUT 5200 HY

faTfora 3 1= Aw A 7 9UT 9 FAGT 7
Find the largest number by which when dividing 3050

and 5200 the remainder remains 7 and 9 respectively?
149 b) 111
153 d) 179

TP I©&IT F oig 327 A fawifora far Smar @ o 43 2w
g STdT 81 331 "= &1 o9 19 | fyuifora forar sme at
Ay ghm?

When a number is divided by 327, the remainder is 43.
What will be the remainder when this number is
divided by 19?

5 b) 18

13 d 7

N T quf Wen @ o wia 6 | fawifora fsar sirar @ &
Y 4 941 31 AR 2N B 6 |/ fawiira frar o o A9
T T

N is a whole number which when divided by 6 leaves
remainder 4. What will be left if 2N is divided by 6?

4 b) 8
2 d I
Zero
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158.

Q)

159.

Q)

160.

Q)

161.

a)

9]

162.

a)

9]

163.

gl 3T aTelt HBT A 18 SisA W SH HBM & 3 SHTIH
T god od § | 3P} BT UG '8’ 81 W= J1d B
When 18 is added to a two-digit number, the digits of
that number are interchanged. The product of
numbers is '8'. Find the number.

42 b) 18
32 d) 24

3 Y aTell TP TWAT & 3h] T GRT 10 g1 99 3P
TN & gge fE T4 § of WS 36 HH g el o | ggent
g3 9T 91d P

The sum of the digits of a two digit number is 10.
When the digits are interchanged the number is
reduced by 36. Find the changed number.

82 b) 73
37 d) 28

gl 3! B TS HEAT SR IHS gl 3Dl S I AT
# gge & §1¢ YT "SI $T AR1132 71 ARG Sl &1
3ieR 4 7Y, ot W& 91d Fiferg|

The sum of a two digit number and the number
obtained after interchanging the places of its two
digits is 132. If the difference of digits is 4, find the
number.

37 b) 84
73 d) 62

gl Sl B TP WEI & DI P AT 12 §1 G i &
i oy ¥ ufkafda #= Ry @, @t wra w@n ga
T 18 SATET 81 WATel 8 | Yot | T 82

The sum of the digits of a two digit number is 12. If
the places of the digits are interchanged, the number
obtained is 18 more than the original number. What is
the original number?

39 b) 48
75 d) 57

3 3iPT BT H@AT & 3P| BT ART 9 § WY § §H H&N FT
9 TMI, 3Bl & Iee HH A U TSI A AT g1 J=
Ia B

The sum of the digits of a two digit number is 9 and 9
times this number is twice the number obtained by
reverse order of the digits. Find the number.

19 b) 18
28 d) 30

U I 3P| Pt YWAT & 3(h] &1 ANT 11 31 Al 80 3T
3P| P IR 9¢d &d §, A T §§ 713 6B ga & 45
q HY g AT B | Yo = [T B

a)

164.

a)

165.

a)

166.

a)
(9)

167.

a)

o)

168.

a)

The sum of the digits of a two digit number is 11. If we
interchange its digits, the new number formed is less
than the original by 45. Find the original number.

92 b) 56

65 d) 83

Sl Y BT TRT YT 3P S R MU | gga W T
T HEAT BT 3R 45 1 G 3D & 1T BT =R I
Fifsg

The difference between a two digit number and the
new number formed by interchanging the digits is 45.
Find the difference between the two numbers

4 b) 5

6 d) 7

3l 3P B TP TWAT S 3BT BT AT 11 21 e 3Pl &
R 309 § 959 faT Srd § °f IS 63 FH § A1l B
HEIT 91 HIfeTQ|

The sum of the digits of a two digit number is 11. If
the positions of the digits are interchanged then the
number is reduced by 63. Find the number.

83 b) 92

29 d) 38

Sl 3T ATl ST $ 3BT BT ANT 9 §1 9 H&AT HOO 27
SIIST ST 3, df Sithl & I STUH | gaal oIrd 31 H&
4 P

The sum of the digits of a two digit number is 9. When
27 is added to the number, the positions of the digits
are interchanged. Find the number.

45 b) 36

18 d) 27

TSP &l 3(h] B H-AT & b T IR 13 21 Tfg I 3fhT
1 oUW A o fIn S B, @ Wen 27 @ e
Feelt g3 | JId HHoQ |

The sum of the digits of a two digit number is 13. If
those digits are interchanged, the number decreases
by 27. Find the changed number.

85 b) 76

67 d) 58

&SIl Il HET HT AN 9 71 I 3iPT F RIF 3MUH §
¥¢d foU 9d § @Y W1 45 ¥ F9 7 At § geelt g
=T {1d B

The sum of two digit numbers is 9. When the positions
of the digits are interchanged the number becomes
less than 45. Find the changed number.

45 b) 72

63 d) 27
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Page 13




MAHI ACADEMY

169.

Q)

170.

Q)

171.

Q)

172.

a)

9]

173.

a)

9]

174.

a)

3 3P P TP H-AT & 3P| BT U 10 31 TS 3P 3MTH
# ged fou 9¢, @ W= # 54 B HH g S 8, A5
T T1d B

The sum of the digits of a two digit number is 10. If
the digits are interchanged, the number is reduced by
54. Find the new number.

73 b) 28
82 d) 37

T TBAT & &Y 3] &1 AT 10 21 TS 3 3y H gea
fod o €, O 3H@T 4E 18 I WAT §1 W= BT udl
|

The sum of two digits of a number is 10. If the digits
are interchanged, its value increases by 18. Find the
number.

46 b) 64
19 d) 28

TP &I 3P| BT =T BT 3R I 3] Bl MUy A g¢al
A A o @M FT AR 99 71 TS AT 31 BT 3 AR B,
d e J1d Siferg|

The sum of a two digit number and the number
formed by interchanging its digits is 99. If the
difference between the two digits is 3, then find the
number.

27 b) 63
45 d) 54

TH Gl 3P BT W1 R LT & 3P HI R 96
A | U W & F1T 3R 54 71 I G F Gl S
F ¥ FT SR 72

The difference between a two digit number and the
number obtained by interchanging the digits of the
number is 54. What is the difference between the two
digits of that number?

6 by 7
8 d) 9

gl Sl Bt TSI F 3! HT INHA 5 31 99 3P AT
fu SITa § o W 9 S g 9Tt 7| oY uiRafda S F
g

The sum of the digits of a two digit number is 5. When
the digits are reversed the number 9 is reduced. Then
what will be the converted number?

32 b) 23
41 d) 14

TEAT 3675149 | ‘5’ b WM AR 3ifhd A1 & o 1
3R [T BT

Find the difference between the place and face value
of ‘5" in the number 3675149

5000 b) 4995

176.

Q

177.

a)

178.

180.

a)

o)

181.

a)

o)

182.

495 d) 4990

175. 634785 § 8 HT VI HH FIT §?
What is the place value of 8 in 634785?

8 b) 80
800 d) 80000

TT 206743 H 6 F 3ifpd A MR T 94 &7 AT
fpar a2

What is the sum of the face value and place value of 6
in the number 206743?

6749 b) 12743
6006 d) 12

935071360 § I 3 & W A & S T 3R &2

What is the difference between the place values of two
3's in 935071360?

29999700
2999600

b) 29999701
d) 29999400

3728456 § 7 & Sifpd A R W A & N1 Bt
TUMET Bifore?

Calculate the sum of face value and place value of 7 in
37284567

700007 b) 0
7 d) 700000

145.390 ¥ 4 7 3ifhd A9 =T &2
What is the face value of 4 in 145.390?

40000 b) 4
140000 d) 45

229301 § 9 & WIFIF A a7 3ifdd A &7 iR
Eadl

Find the difference between the place value and face
value of 9 in 229301.

9292 b) 8991

0 d) 220

TWAT 273965 A 3 P RIHIG A 3R 3ifhd A & 3R
fra &2

What is the difference between the place value and
face value of 3 in the number 273965?

2035 b) 3962
2997 d 0

HB1833749502 & '4' 3R '2' & RITHI AH FT 3R &:
The difference between the place values of '4' and '2'
in the number 833749502 is:

49998 b) 30098
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¢) 39098 d) 39998
183. TA BIT:
Solve
1 1 1 1
1+—+—+—+ —+......
2 4 8 16
a) 2 b) 1/50
0 3 d) 1/22

184. TH Wpd Uafe & wgg ¥, 2/9 UM T ¥ 3R
TUP! Dt g1 | godl Bt G@ 95 AP | agi fha
T Hivlg A?
In a group at a school picnic, 2/9th were adults and the
number of children was 95 more than that of adults.
How many children were present there?

a) 95 b) 133
c) 190 d) 103

185. 52-|8-20|= HT HF FTd B |
Find the value of 52-|8-20|=.
a) 45 b) 40
o 65 d) 64

186. dfe UH gol AT BT YR 1.8 kg & 9 3 gl oD
THfe® YR 23.25kg & ® fHam A9 &l
If the weight of a dozen apples is 1.8 kg, then how
many apples will be there in 3 boxes whose combined

weight is 23.25 kg?
a) 280
c) 465

b) 155
d) 215

187. 9 UY=A &I A WY 36 P UHEUS! A §a1 3|

Select the set which is made up of factors of 36.
a) (2,3,4,6,9) (b) b) (2 3,4,6)
o (2,3,4,6,9 12,18) d) (2,3,4,6,9 12

188. < TEM3Hf BT SR 5 B Al ITHT UHGH 336 3, @
QY T3} BT URT FId P
The difference of two numbers is 5. If their product is
336, then find the sum of both the numbers.
a) 21 b) 37
o 28 d) 51

180. U® TGN &7 a7 I W& ¥ FA @ 3 3R> 21 8
HUTRI &I F1 87
The square of a number is 3 more than twice the same
number. What is that possible number?
a) 1413 b) 13d1-3
1or3 1to -3

¢ -141-3
-1to -3

d -1913
-1to 3

190. 1000.03 ® | 64.37 g 3R IHH YT URUMH & 3.4
3R 7.56 & T P GRUMH & S W IHPT A FT
grm?

What will be the value of subtracting 64.37 from
1000.03 and adding the result to the sum of 3.4 and

7.56?
a) 948.62 b) 944.62
) 945.62 d) 946.62

191. a1 3t 3v frar 9§ - 50 firet o @ 394~ 15 Ft efot
WIS IHST AT A~ 30 YT W30S Wi A 39 " 42 @
fore | SO e faa vl a2
Seema received * 50 from her father from which she
bought toffee worth * 15. His mother gave " 30 but his
brother took ~ 42 from her. How much money is left

with him?
a) 23 b) “24
c 20 d 25

192. ftar &1 aoi 11.235 %N 31 IUF T84 F1 994 TS
oI BT 1.4 AT ¢ | GFI1 T Hd qoiT [T B
Geeta's weight is 11.235 kg. Is. His sister's weight is 1.4
times his weight. Find the total weight of both.

a) 15.729 f&un b) 25.964 fabuT
155729 kg 25>964 kg
o) 26.964 fm d) 28.964fmuT
26>964 kg 28>964kg
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a)

9]

a)

Q)

a)
Q)

MAHI ACADEMY

GAHCAG HIT

. Fufafea o 3 9e9 53 fug &1 31a Sl

Find the largest fraction among the following. 5/6,
6/11, 2/3, 8/9, 6/7

2/3 b) 8/9
5/6 d) 6/7

2/3, 3/4, 4/5 3R 5/6 § ¥ FEH TSt 3R I B fim
PT 3R AT PIACI

Find the difference between the largest and smallest
fractions among 2/3, 3/4, 4/5 and 5/6.

3/5 b) 1/7

1/6 d) 2/5
Frafafea 4 4 oH-w1 ved a1 82
Which of the following is the largest?
15/16 b) 24/25
34/35 d) 19/20

fafeafaa # ¥ gaw 93t g 9 39 Fifse 5711, 3/15,
12/11, 4/7, 9/12

Find the largest fraction among the following. 5/11,
3/15, 12/11, 4/7, 9/12

12/11
9/12

b) 3/15
d) 4/7

. ¥ @ 999 sid g 9= #19 @ 82 1710, 17100,

9/1000, 500/10000
Which of the following is the smallest fraction
number? 1/10, 1/100, 9/1000, 500/10000

500/10000 b) 1/100

1/10 d) 9/1000
Frafafea & @ o1 9@ e ved 7t 82

Which of the following fractions is the largest?
8/19 b) 9/22

10/23 d) 11/24

fFrafaf@a sruel @) 9ed w0 & T, #19 dt "G
anf@Edt gnft? 11:14, 17:21, 5:7, 2:3

Arrange the following ratios in descending order,
which number will be last? 11:14, 17:21, 5:7, 2:3

17:21 b) 57
2:3 d) 11:14

(¢

10.

Q

11.

a)

12.

a)

Q

13.

a)

o)

14.

a)

fFafafea 3 9 o= @t e aa 91 82 1/8, 2/12, 3716,
4/20 Which of the following fractions is the largest?
1/8, 2/12, 3/16, 4/20

3/16 b) 4/20
1/8 d) 2/12

fFafafead & @ 99 7t i «19 A& 82 3/15, 5720,
8/64, 25/1000 Which of the following is the largest
fraction? 3/15, 5/20, 8/64, 25/1000

5/20 b) 8/64
3/15 d) 25/1000

W & wE e A gew o1 i o1 9t 37 479, 5/4,
3/8, 6/7

Which of the following fractions is the smallest? 4/9,
5/4, 3/8, 6/7

3/8 b) 4/9

6/7 d) 5/4

Frafafed & @ o1 9 fia 9ed st o2

Which of the following fractions is the largest?
29/77 b) 2/21

5/14 d) 25/66

7 § 3 wew s g W= o9 I 82 6/11., 13/18,
15/22,,19/36, 5/6

Which of the following is the smallest fraction
number? 6/11, 13/18, 15/22, ,19/36, 5/6

19/36 b) 13/18
6/11 d) 5/6

8/6, 6/4, 5/3,, 9/5 & TS firal & & A w7t g 31
8/6, 6/4, 5/3, 9/5 is the largest fraction among the
given fractions.

5/3 b) 6/4
9/5 d) 8/6

e o ¥ IR B i w9 @ 82 3/15, 5/20, 8/14,
25/1000

Which of the following is the smallest fraction? 3/15,
5/20, 8/14, 25/1000

8/64
5/20

b) 25/1000
d) 3/15
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15.

21.

a)

9]

22.

a)

Q)

23.

a)

Frafafaa & 9e9 g7aq $19 a1 82 3/4, 3/5, 3/8, 3/11
Which of the following is the lowest? 3/4, 3/5, 3/8,
3/11

3/4 b) 3/7
3/11 d) 3/8

frafafed & & 9@ gaaw Rm e @ @

Which of the following is the least common fraction?
6/5 b) 4/3
3/2 d) 5/4

Frafafea # @ -0 fim aed 7t 22

Which of the following fractions is the largest?
3/4 b) 4/5
5/6 d) 7/8

5/8, 3/4, 13/16, 7/12 ¥ | 9o B! i w1 &l
What are the smallest fractions of 5/8, 3/4, 13/16,
7/12.

5/8 b) 3/4
13/16 d) 7/12

Frafafea 4 4 ged ol Rm P @ o2

Which of the following is the smallest fraction?
3/4 b) 4/5
5/6 d) 6/7

Frafafea & @ o1 9@ i 9ad B1d 2

Which of the following fractions is the smallest?
3/5 b) 5/6
2/3 d) 4/5

Frafafae & 3 o5 a1 e e R g

Which one of the following numerators is different?
91/15 b) 79/26
105/112 d) 41/17

fFrufafEa fisl @1 sraRid) wa § =afRa Fifs) 576,
3/7, 8/9, 3/14

Arrange the following fractions in descending order.
5/6,3/7,8/9, 3/14

8/9,5/6,3/7,3/14
5/6, 8/9, 3/7, 3/14

a3 o9 @ A saft wa A B2
Which of the following fractions are in descending
order?

5/8,7/12,3/4,13/16 b) 7/12,13/16, 3/4,5/8
5/8,7/12,13/16, 3/4 d) 13/16,3/4,5/8,7/12

b) 8/9,3/14,3/7,5/6
d) 3/7,8/9,5/6,3/14

24.

a)
Q

30.

a)

Q

31.

a)

o)

32.

a)

e d AP W aR wa d o2

Which of the following is in ascending order?
0.65, 0.76, 0.67, 0.86, b) 0.65,0.86, 0.67, 0.76
0.65, 0.67, 0.76, 0.86 d) 0.67,0.65, 0.76, 0.86

& i e & forg Frufafea & & e-wr w82

Which of the following is true for the given numbers?
25/27 b) 32/47
13/33 d) 20/47

;’Hﬁlﬁﬁ # P9 AT AR HH (descending order) i

Which of the following is in descending order?
2/3,3/4,4/5,1/2 b) 3/4,4/5,1/2,2/3
4/5,3/4,2/3,1/2 d) 4/5,1/2,2/3,3/4

&1 T HEma A | fueT SRIE U WEl 87
Which of the given numbers is in the correct ascending
order?

5/6,3/5,7/9
3/5,7/9,5/6

b) 3/5,5/6,7/9
d) 7/9,3/5,5/6

\2 BT | SRHAT & 313 3P| dP FId B
Find the value of V2 up to eight decimal places.

141421356 b) 1.41421354
141421346 d) 1.41421366

&2 M dEmel 1 HEt IRIG) HH P-4 72
Which is the correct ascending order of the given
numbers?

1/3,4/15,0.33
4/15, 0.33, 1/3

&t TS TS BT W RIS H -

The correct ascending order of the given numbers is —
3/10, 9/15, 1/3 b) 4/15,1/3,1/10
1/3, 3/10, 4/15 d) 4/15,3/10,1/3

& i weEmait ¥ forg e § 9 1w wE @2
Which of the following is correct for the given
numbers?

32/67
22/55

@ it wemai ¥ forg Frafafaa § & o7 @ wd 82
Which of the following is correct for the given
numbers?

25/51
12/19

b) 1/3,0.33,4/15
d) 0.33,4/15,1/3

b) 45/81
d) 12/43

b) 47/63
d) 63/79
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33.

35.

a)
Q)

36.

Q)

39.

a)
Q)

40.

a)

9]

1.

& 1 Temaii ¥ fre Fufafa A A Sl arad 22

Which of the following is correct for the given
numbers?

13/21 b) 57/97
52/94 d) 36/79

@ € Femsit ¥ Ry Frafifea & o9 w8 @
Which of the following is correct for the given
numbers?

3/8 by 19/73
17/39 d) 29/47
feRRT i TR Fad &2

Which of the following is in ascending order?
2/3,3/4,4/5,1/2 b) 3/3,4/5,1/2,2/3
1/2,2/3, 3/4,4/5 d) 4/5,1/2,2/3,3/4

feu e firg &) 3% T sraRie! P § HafRId He-

Arrange the given fractions in their correct descending
order -

7/9, 11/47, 5/13, 24/29
11/47,5/13,7/9, 24/29

Fadd e ar s PAH 8-

Which of the following is in ascending order?
2/3,5/6, 3/4 b) 3/4,2/3,5/6
2/3,3/4,5/6 d) 5/6,3/4,2/3

& i seneit & fag Fufafad # § o oRig wv
e &

Which of the following ascending order is correct for
the given numbers?

1/3,1/5, 2/5 b) 1/3,2/5,1/5
1/5,1/3,2/5 d) 1/5,2/5,1/3

& A Tl # A feuer aRid e "8 @2

Which of the given numbers is in the correct ascending
order?

5/8, 19/24, 11/16
5/8, 11/16, 19/24

& i Semai ¥ fog Fafifea § @ o9 @ w6 e
Which of the following is correct for the given
numbers?

b) 24/29, 11/47,7/9, 5/13
d) 24/29,7/9, 5/13, 11/47

b) 11/16,5/8, 19/24
d) 19/24,11/16,5/8

32/67 b) 45/81
23/53 d) 13/41
frafafad firg sie) &1 RIg 4 | FIvR:

Arrange the following different numbers in ascending
order:

Q

42,

Q

43.

a)

44.

a)

45.

o

46.

(¢)

47.

a)

Q

48.

a)

Q

49.

a)

11/17 b) 41/63
3/7 d) 21/29

& i wemsi & e | 31 |1 s v wEl 72
Which of the following ascending order is correct for
the given numbers?

1/3,03, 2/8
2/8,0.3,1/3

Frafafeaa HEmsi o1 ugt SRIE! 53 o1 32 3/4, 17/24,
2/3

What is the correct ascending order of the following
numbers? 3/4, 17/24, 2/3

17/24, 3/4, 2/3
2/3,3/4,17/24

&1 T HEma # @ fhueT SR U Wel 87
Which of the given numbers is in the correct ascending
order?

b) 03,1/3,2/8
d) 1/3,2/8,0.3

b) 3/4,2/3,17/24
d) 2/3,17/24,3/4

3/7,03,2/7 b) 0.3,2/7,3/7
2/7,03,3/7 d) 2/7,3/7,03
& 7 J@mait 7§ A fueT aRid By ad @2

Which of the given numbers is in the correct ascending
order?

1/2,2/3,7/12
1/2,7/12, 2/3

& 1 TEmaf 7 A frueT AR HW I B
Which of the given numbers is in the correct ascending
order?

b) 7/12,2/3,1/2
d) 2/3,1/2,7/12

1/3, 3/4,5/8 b) 5/8,3/4,1/3
1/3, 5/8, 3/4 d) 3/4,1/3,5/8
o e first & fre Ot ki) w fpaar 22

What is the correct ascending order for the given
fractions?

22/7,13/17,11/19, 2/3
2/3, 11/19,13/17, 22/7

faw e il ®1 Tt aRigt o A ferd?

Write the given fractions in correct ascending order?
3/7,15/41,19/35, 7/11 b) 15/41,3/7,19/35, 7/11
3/7,15/41,7/11,19/35 d) 19/35,7/11,15/41, 3/7

&t 7 el 7 A fraer AR HH I @2

Which of the given numbers is in the correct ascending
order?

5/6, 11/12, 8/9 b) 8/9,5/6,11/12
5/6, 8/9, 11/12 d) 11/12,8/9,5/6

b) 11/19, 2/3,13/17,22/7
d) 2/3,13/17,11/19, 22/7

MOB. :- 8171232133

Page 19




MAHI ACADEMY

50.

a)

51.

a)

52.

Q)

53.

a)

54.

a)

55.

9]

56.

a)

9]

57.

a)

Q)

?ﬁ@aﬁﬁﬁﬂmmmmaﬁ%ﬁﬂ%ﬁlﬁa

Which of the following is the terminating decimal?
1/32 b) 1/24
1/96 d) 1/48

Fafafea & & few Wen o1 wia exmeg TR gRm
Which of the following numbers will have quiet
decimal expansion?

57/120
61/110

frafafaa & @ 19 A @ &1 99 ' 9id SIHag
ﬁTIT? The value of which of the following numbers will
be a quiet decimal?

b) 47/150
d) 43/140

9/45 b) 6/45

3/45 d) 12/45

Frafafed & @ $19 91 s axmed §m?

Which of the following will give terminating decimal?
12/72 b) 6/72

9/72 d) 3/72

frafafaa At & ¥ feaer 7F madf eemag § T8
3TYIT? The value of which of the following fractions
will not come in repeating decimal?
20/56 b) 25/56
10/56 d) 21/56

fofafee & @ o9 a1 e, smadl xmaa &
JETER 32

Which of the following options is an example of
recurring decimal?

24/60
24/120

Fafafed § 4 o9 9§ wryR g $) g $ w4
forE™ W U1 A Wid qHad | UT g1 g2
Which of the following ordinary fractions, when
written in decimal form, will not get its value in neat
decimal form?
27/480

81/450

b) 24/90
d) 24/30

b) 21/640
d) 240/450

fFrafafaa & @ w19 Wt R ve id exmaa ghfl?

Which of the following fractions will have a
terminating decimal?

6/144
3/144

b) 12/144
d) 9/144

a)
(9)

61.

a)

62.

Q)

63.

(9)

64.

a)

o)

65.

g % @ $19 U 2id Mg TR 82

Which of the following is a cool decimal expansion?
1/6 b) 17/25
10/3 d) 1/11

g & Q F19-31 g« Hd UeH B

Which of the following will give recurring decimals?
21/30 b) 21/120
21/60 d) 21/90

a9 & fraeT ue wrid a=mad § grw ghem?
The value of which of the following will be obtained in
decimal form?

3/36
9/36

5 & & 95 1= A fira 3 it srradf g T8
Which of the following fractions will not give
repeating decimals?

b) 12/36
d) 6/36

8/56 b) 6/56
4/56 d) 7/56
TeH PN

do the Evolution :

0.623

623/999 b) 23/999
617/990 d) 23/990
0.18 1 a7 31a FIT |

Find the value of 0.18

27/90 b) 17/90
17/100 d) 18/100

0.0654 &Y W& aiftreafa @1 @ () e 3rawd oxv@a
P R BT B

What is the correct expression of 0-0654? The () sign
indicates consecutive decimal.

18/275 b) 18/277

654 d) 654/1000

0.047619 55 v wuRw firg & w0 & Rrar wman 8,
o g% RIeR g -

0-047619, when written as an ordinary fraction, is
equal to-

1/21 b)
1/23 d)

1/19
1/17
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66.

Q)

69.

71.

a)

Q)

72.

a)
Q)

0.6 2 fars & waa:

convert 0.6 to a fraction:

6/3 b) 2/3
2/6 d) 4/3

. Eﬂﬁﬁmﬁﬁlﬁm G'Iﬁ'cﬁm (Recurring

decimal) Hﬁ 3-11'”7 Which of these fractions will not
result in a recurring decimal?

10/30 b) 12/30
14/30 d) 8/30

. Ffafea § @ @19 @ IR i, S g3faT & U

% et oIt B, Y W =€ gme
Which of the following ordinary fractions, when
written as a decimal, will not terminate?

81/150 b) 80/150
15/48 d) 21/600

0.0236 5t wer™ =T F Rred W T QIYRT R

FTERN?

What will be the simple fraction obtained by
writing 0.0236 jn its simplest form?

13/1100 b) 13/9999

13/3300 d) 13/550

7/11 B AT =9 § Td BI|

Express 7/11 in decimal form.

0.623 , 0.633
0.63 g 062

0.0836 Y gAGH ATYRY i ¥ =0 § quig)

Represent 0.0836 55 |east common fraction.
46/555 b) 23/1100
23/275 d) 828/9900

1/450 B Tl AT & w7 H fore W ¥g fras
TR g

What will 1/450 be equal to when written as a
repeating decimal?

0.2 b) 0.02

0.002 d) 0.0002

73.

Q

74.

a)
Q

75.

a) 1

76.

Q)

77.

a)

Q

78.

a)
o)

79.

Q

0.0987 37 wadt B WU firy WEN F =9 F 7

f a1 SR 2 What will be the value of 0-0987 a5 the
smallest ordinary fraction?

163/1650
326/3300

b) 329/9990
d) 163/1665

fFafafaa & ¥ F19- e Rt gzmag e
Which of the following fractions will give repeating
decimals?

27/60
27/48

by 27/72
d) 27/84

41

afe 0.41 o wremor R 999---9(ntimes) 3 -
@ STt 8 A n BT AE @ B

If the ordinary fraction of
41

999....9(ntimes)

0.41

is given by

then find the value of n?
b) 3
4 d 2

frafafaa § @ o9 w1 0.56 & gea 2 ( - TwweE
YRIGR ®1 Weiid HRaT 8) -

Which of the following is equivalent to 0-56? ¢-"
represents decimal repetition)

56/100 b) 56/1000

56/99 d) 560/90

1.427 $T el SAfUSIS § (Bar Repeating decimal)
&1 3 e 2

What is the correct expression of 1.427 (Bar
Repeating decimal)?

1427/1000
1427/10000

b) 157/110
d) 157/111

0.018 ot wét st 3.
The correct expression of 0.018 js:
1/55 b) 18/100
18/1000 d) 1/66

0.0234 =? 35 et afreafaa &-

The correct expression of 0.0234="? is-
13/555 b) 34/100
134/990 d) 234/1000
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80.

84.

Q)

85.

a)

Q)

86.

a)

Q)

87.

2.56 7 adt sftraier T 82 () Bar ST TN
P ER PRAT R)

What is the correct expression of 2.56 ? (-) Bar
indicates continuing decimal)

2360 » 36
90 by 99
) 56 )36
1000 q 100
0.0236 o7 T} srfroafdy w1 2

What is the correct expression of 0.02367

13/550 b) 236/1000
36/1000 d) 13/555
0.12636 = ?

139/1100 b) 139/2200
126/1000 d) 36/10000

W Yumer § 73/8 P ford YR o S gevdr 82

How can 73/8 be written in decimal system?

9.5 b) 9.125
8.15 d) 8.125

44 4 0.4

—%+-%+—% \ :

5 5 5 @ gxmad §e & U § Fa
Pl

ﬂ(yo + i“A) + E(%)

Express 5 as a decimal number.
0.0888 b) 0.0998
0.0896 d) 0.0968

o & @ e fia ot 3R aiftres wva 18 foman < wepan
82 14/21, 33/43, 18/24, 41/82

Which of the following fractions cannot be further
simplified? 14/21, 33/43, 18/24, 41/82

33/43 b) 92/24
18/24 d) 41/82

368/575 @I fAgaH uel A e FIfog|
Express 368/575 in lowest terms.

28/29 b) 30/25

25/29 d) 16/25
fraferfRaa & @ o9 @ fiw 18/25 F R @2

a)

88.

Q

89.

o)

90.

a)

91.

a)

Q

92.

a)
o)

93.

a)

Q

94.

a)

Which of the following fractions is equivalent to
18/25?

72/100 b) 36/75
54/100 d) 50/100
R TS :
Simplify:
6. 27 20
27 30 81
b) 6
d) 1
0.3
1000 &3 SeTeR 37
0.3
What is 1000 equal to?
3x107* b) 3 x107°
3 x10° d) 3x10°%
4
92
i 12 31 59 @ ¥ | yRafda S|
4
9
Convert the fraction 12 to its simplest form.
1/26 b) 1/29
1/25 d) 1/27
1% BT YEPHTIUTL B:
1% is inversely proportional to:
2% b) 3/5
3% d) 2/3

4.025 &1 =g=AaH fid 7 e o & frads svmaR ghm

The minimum fraction value of 4.025 will be equal to
which of the following?

161/40
161/20

frrafafad & O o19-91 =M 4/11 S GHH 81 &2

Which of the following fractions is not the same as
4/11?

b) 116/20
d) 116/40

64/176 b) 20/55
84/209 d) 32/88
1,
25
0.24 b) 24
2.004 d) 2.04
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95.

97.

a)
Q)

98.

a)

929.

Q)

100.

a)

Q)

101.

a)

Q)

fpeft foa & fvaa fra 7 fime 12 9P 72

How many fractions of a day are 7 minutes 12
seconds?

1/240 b) 1/225
1/200 d) 1/300
0.05 x 0.4 P § BIfoT?

Solve 0.05 x 0.4?

2 b) 0.2
0.02 d) 0.002

0.000825 + 0.05 PTHAM R g ?
What is the value of 0.000825 + 0.05?

0.0165 b) 0.65
0.00165 d) 0.015
13/55 @I g § dgfaT|
Convert 13/55 to a decimal.

0.2 b) 0.236
0.245 d) 0.257

414+54 T fafya R & fore feman siran @2

What mixed fraction is 414+54 written for?

;36 ;8
54 b 9
2 l
3 " 3

Ei N ) AN

[2 3]_[2 2]
4+ =124+ =
simplify \7 S/ \5 7/,

31/24 b) 24/31
26/25 d) 12/13
WA B :
Simplify :
3 3
[
.1 31
3 7
3 ,
1— li
11 ) 11
3 4
22 2%
d) 7

102.

a)

Q

103.

105.

(9

106.

a)

Q

107.

a)

o)

108.

a)

Q

109.

TIA DY :

Simplify :
81 x41+51
3 5 4

42
I3

L
3

)
]
| W

[#)
| b

d)

g 4 9 Teeu g &1 gH1 15/20, 48/60, 21/28,
75/100

Choose the one that is completely different from the
following. 15/20, 48/60, 21/28, 75/100

15/20 b) 48/60

21/28 d) 75/100

4/11 + 2/7 + 3/5 BT & JTd B
Find the solution of 4/11 + 2/7 + 3/5 -

37/35 b) 481/385
13/35 d) 37/385
5 28 20
28 35 112 @ ERE Gl
5 28 20
Simplify 28 35 112,
4/5 b) 5/4
477 d) 7/4
4 28 20
28 35 112 P XA IF1C|
428 20
Simplify 28 35 112
7 b) 4
2 d) 1

= fow e A & @ - R 9717 F R T 22

Which of the following fractions is not equal to 9/17?

108/221 b) 27/51
63/119 d) 153/189
182/130 &1 TAAH FU 3-

The simplest form of 182/130 is-
28/20 b) 91/65
14/10 d) 7/5

T Hiex § oo e frafies g &2

How many kilometers are there in one meter?
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Q)

110.

a)
Q)

111.

a)

Q)

112.

Q)

113.

a)

114.

a)

9]

115.

0.0001 b) 0.1
0.001 d) 0.01
5/1230% 12/5 &1 T faraT 82

What is the sum of 5/12 and 12/5?
17/17 b) 17/60
60/17 d) 169/60

25
2— . !
ot i ok 59 gapa FTANT 66 1 g1 TE=mai
# 9 95t Her B-
225
The sum of a fraction and its reciprocal is 66 .
larger of the two numbers is-

The

15 5
1— 1=

22 by 6
120 12

33 d) 11
5/11 3R 11/5 &1 AN
Sum of 5/11 and 11/5-
146/55 b) 16/16
16/55 d) 110/55

39
6——
TP YATAS UF 3R 39 gopd & o1 Sfax 160 |
IEEINUIE AR E o Kk
The difference between a positive fraction and its

639

reciprocal is 160, which is the fraction under
consideration?

32/5 b) 13/8

15/8 d) 16/5

forlt R ik S opW &7 3iav 9/11 g1 ot fird ok
3% kW gIHl & U1 BT 3iax T gRI?

The difference between a fraction and its reciprocal is
9/11. Then what will be the difference of the cubes of
both the fraction and its reciprocal?

1331 2538
2538 p 1331

3996 729

1331 d 1331

1

5=
TP T qUT 9P Gopd &1 ARTea S g1 A 3
Biferg|

Q

116.

a)
Q

117.

a)

51

The sum of a fraction and its reciprocal is ¥ . Find the
fraction.

1/5 b) 1/6

1/3 d) 4

4/5 ¥ fa=r sisT o o 5/4 uTea 812

How much should be added to 4/5 to get 5/4?
1/-1 b) 16/20

9/20 d) 1.25/0.8

5/8 I 8/5 ST UNI-

Sum of 5/8 and 8/5-

13/13 b) 80/40

13/40 d) 89/40
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MAHI ACADEMY

Ans

Que

91

92

93

94
95

96
97

98
99

100
101

102
103

104
105

106
107

108
109
110
111

112
113
114
115

116
117

ANSWER KEY

Ans

Que

61

62

63

64
65

66

67

68
69
70
71

72
73

74
75

76
77
78
79
80

81

82

83

84
85

86

87

88
89

90

Ans

Que

31

32

33

34
35

36
37
38
39
40

41

42

43

44
45

46

47

438

49

50
51

52

53

54
55

56
57
58
59
60

Ans

Que

10
11
12
13
14
15
16
17
18
19
20
21

22
23
24
25

26
27

28
29
30
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